
M.A. Part II Examination, 2020(DDE) 
Subject: History 

Paper:  VIIIA 
 

                      Society and economy of ancient India from 650 to 1206 AD  
Time: 2 Hours                                                                                         Full Marks: 40 
The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

 

1st half (প্রথম অর্ধ) 
1. Answer any one of the followings.                                                        15x1 = 15 

     নিম্ননিনিত প্রশ্নগুনির মধ্যে যে য োি এ টির উত্তর দোও।                                              

 (a) What are the main features of society in early medieval India? 

    ভোরধ্ত আনদ মযে েুধ্ের সোমোনি  বৈনিষ্ট্ে গুনি ন  নিি ? 

 (b)  Do you find out any growth of Tamil and Prakrit literature during 650 to 1206 AD? 

    তুনম ন  মধ্ি  র ৬৫০ যেধ্  ১২০৬ নি এর মধ্যে তোনমি ও প্র ৃত সোনিধ্তে য োধ্িো নৈ োি ঘধ্েনিি? 

     

2.       Answer any one of the followings.                                                      5x1 = 5 

   নিম্ননিনিত প্রশ্নগুনির মধ্যে যে য োি এ টির উত্তর দোও। 

(a) Write the origin of Bhagavatism 

      ভোেৈত যধ্মের উদ্ভৈ সম্পধ্ ে  যিি। 
(b) What is the features of Kashmir art and architecture? 

      োশ্মীধ্রর নিল্প ও স্থোপধ্তের বৈনিষ্ট্ে গুনি ন ? 

 

 2nd half (দ্বিতীয় অর্ধ) 
1.       Answer any one of the followings.                                                     15x1 = 15 

    নিম্ননিনিত প্রশ্নগুনির মধ্যে যে য োি এ টির উত্তর দোও।   

(a)    Analyse the nature of Indian politics during 650 to 1206 AD. 

৬৫০ থেকে ১২০৬ খ্রি: এর মকযে ভারতীয় রাজনীখ্রতর প্রেৃখ্রত খ্রিকেষণ ের। 
(b) Discuss the rise of village self-administration in south India (650to1206AD). 

দখ্রিণ ভারকত গ্রাম খ্রভখ্রিে স্থানীয় স্বায়ি শাসকনর উত্থান িণণনা ের।(৬৫০ থেকে ১২০৬)  

 

2.    Answer any one of the followings.                                                    5x1 = 5 

নিম্ননিনিত প্রশ্নগুনির মধ্যে যে য োি এ টির উত্তর দোও।   

(a) Explain the nature of Sultan Mahmuds invasion in India. 

ভারকত সুলতান মামুকদর আক্রমকণর প্রেৃখ্রত িোখ্ো ের। 
(b) Point out the condition of Bengal during post Sasanka period. 

শশাঙ্ক পরিতী সমকয় িাাংলার অিস্থা খ্রনযণারণ ের। 
 

 

 



M.A. Part -II Examination, 2020 (DDE) 
Subject: History 

Paper:  VIIIC 
 

                         Society and Economy of Modern India with special reference to Bengal 
Time- 2 Hours                                                                                                                 Full Marks: 40 
The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

 

1st Half (প্রথম অর্ধ) 
1. Answer any one of the following questions.                     15x1 = 15 
     নিম্ননিনিত যে য োি এ টি প্রধ্শ্নর উত্তর দোও । 

 (a)Discuss the environmental movements in India with special reference to Orissa. 
    ঊনিষ্েোর নৈধ্িষ্ উধ্েি সি ভোরধ্তর পনরধ্ৈি আধ্দোিিগুনি আধ্িোচিো  র ।     
   (b) Briefly state the causes of the Deccan Riot of 1875. What were its results ? 
      ১৮৭৫ িীীঃ দোনিিোধ্তের দোঙ্গোর  োরণ গুনি সংধ্িধ্প যিি । এর ফিোফি  ী িধ্েনিি ? 
      
2. Answer any one of the following questions.                     5x1 = 5  

   নিম্ননিনিত যে য োি এ টি প্রধ্শ্নর উত্তর দোও । 
  (a)Discuss the importance of Census in colonial India. 
   ঔপনিধ্ৈনি  ভোরধ্ত িিেণিোর গুরুত্ব আধ্িোচিো  র । 

    (b) Would you agree that Aligarh movement contained the seeds of two-nation 
theory ? 

    তুনম ন  মধ্ি  র যে,আনিেি আধ্দোিধ্ির মধ্যে নিিোনত তধ্ের ৈীি নিনিত নিি ? 
 

2nd Half (দ্বিতীয় অর্ধ) 
 
1. Answer any one of the following questions.                 15x1 = 15 
নিম্ননিনিত যে য োি এ টি প্রধ্শ্নর উত্তর দোও । 
(a) Write an essay on the historiography of famines in colonial India. 
      ঔপনিধ্ৈনি  ভোরধ্ত দনুভে ধ্ির ইনতিোসচচে োর ওপর এ টি নিৈন্ধ যিি। 
(b) Comment on the growth of large scale industries in India under British         
       Rule. 
       নিটিি িোসিোযীি ভোরধ্ত  ৈৃিৎ নিধ্ল্পর নৈ োধ্ির ওপর মন্তৈে  র। 
 
2. Answer any one of the following questions.                   5x1 = 5  

   নিম্ননিনিত যে য োি এ টি প্রধ্শ্নর উত্তর দোও । 
(a) Write a short note on the coal mines industry in colonial Bengal. 
   ঔপনিধ্ৈনি  ৈোংিোে  েিো নিধ্ল্পর ওপর এ টি টী ো যিি। 
(b) Write a short note on the TISCO. 
     টিসধ্ োর ওপধ্র এ টি টী ো যিি । 

 


